B N ERE

1. LEA4
THE4 BrEvEER X R T
T4 SR RSB TR T 1 XA e
2. LTHEANK
1) FHHEH4 FBEEFEEAT TEE R
2) X LM HEWETH
3) T £ 170 H & H 0 7TH 8HI13H
ES S0 84 1H29H
4) T EgE

i@ Aokt 5w m



B N ERE

THE4 | FRTER HHMBXSR THF

THRXSy - LA - fERl B ¥ = & H A il N 7
YR = 1 64, 629, 435
BT By 1 144, 060
B - T =X 1 144, 060 | BERERE + 20 m3
HAZ O B T = 1 58, 311, 280
Efs T eV 1 58,311,280 | @ IRA LA 4,200 m3
FiERE
BRIEE S5m A/ MSRELH (—k5s LN 7
) EXFHRINEIOke/m3 ;
U R A AL 7,680 m3
FeEYEUE
BRIEE Am A/ MSRECH (—R55 RN 7
) EXFHRINEIOke/m3 ;
2307 G BRI R 1 2N
Pkt gy T 2V 1 4,949, 229
EELT = 1 3,628,800 | KA Y 1 A
L4
HR L 1 BV
L4
e N 1 1,320,429 |7 koA UBL T i n
BF- 1 -B300-L2000 (FLFI| FH &) ;
7° VA UBRARI G 6 m
BF- I -B300-L2000 ;
7° VA UBRARI G 29 m
BF- 1 -B400-L2000 (FLFI| FH &) ;
7° VA UBRARI G 14 m
BF- I -B400-L2000 ;
7" VR AN 19 m
BF- 1 -B600-L2000 (FLFI| FH &) ;
7" VA U 3 n

-1 - ESR o3 E < o] 3 ok S




)

B N ERE

THE4 | FRTER HHMBXSR THF

THERXSy « LFE - fEmH A B & & # 1l ) 7

BF- 1 -B600-L2000 ;

7 Vi A NURLAR 1 15 m
BF-I1 -B600-L2000 (FLFI| FH &) ;

7 Vi A NURLAR 1 3 m
BF-II -B600-L2000 ;

7 Vi A NURLAR 1 15 m
HF-B400 X H600-L2000 (FF-FI| 1 &) ;

7 Vi A NURLAR 1 3 m
HF-B400 X H600-L2000 ;

7 Vi A NURLAR 1 3 m
HF-B600 X H600-L2000 ;

7 Vi A NURLAR 1 14 m
HF-B800 X H1000-L2000 (FF-FI| /&) ;

7 Vi A NURLAR 1 8 m
HF-B800 X H1000-L2000 ;

AT - MR 17 m
B600 X H500 t 100 A& 1400 (FRFIH &)

AT - MR 19 m
B800 X H850 t 100 (FFFIFH M) ;

FEE YR T 2V 1 393, 366
PEKEIE M E T 2V 1 393,366 |UAU{HITE TS 1 =K

FHH A BF-1-B300-L2000 ;

VBRI 1 =
FHHHfZE  BF-1-B400-L2000 ;

VBRI 1 =
FHH A BF-1-B600-L2000 ;

VBRI 1 =
FHH A BF-11-B600-L2000 ;

VBRI 1 =
R A HF-B400 X H600-L2000 ;

VBRI 1 =
R A HF-B800 X H1000-L2000 ;

o A NI S S 1 2y

-2 - ESR o3 E < o] 3 ok S



HNERE

H
TH4 | FriEEEE HHMXGE TH
THEXS - T - FER - va ¥ = & Hm a1l W 3
HFIR#AZE  B600XH500 t 100 STAERIRE1400 ;
rfav ) - MR E 1 =
PRI AAZE B800XHS850 t 100 ;
FGan Y 831, 500
BREFT = 831,500 |72 HFEHEHE 50 A H
B
RS Y 64, 629, 435
o = 9,510, 680
B 2 = 1 2,802, 680
TE = 1 2,041, 000 | FE R FRAKAR Sy MRAH ST oy 16 2 1 =
B gy = 1 70, 680 | A/ AT HEER 1 =
BRI T A R 465 TR HEREBA
TE W hERR AT - ERE 1 2V
Bl RIEUER (FE L) Y 1 691, 000
Il (it L) Y 1 6, 708, 000
il T Y 1 74, 140, 115
Bl H e 2V 1 23, 070, 000
T =5 Y 1 97, 210, 115
— R B 2V 1 16, 709, 885
T HAm#E Y 1 113, 920, 000

-3 - ESR o3 E < o] 3 ok S




